' W,
Xy S
’;‘, X)/ - )(‘
7 Ky = x
Xz’ﬁ: ko Ay = Xy -Vt
/ ?

/(/ )(5 L =#£
Atde w27
X W= e &
%%: /V}/Y/gb - %,'7&
(c2v?) It = L — 2y )y ¥

W)= o K OEwE)
/(,(’)2‘- /V?c)va 2v(+c¢ —v —H¢J

u' = VvFC Golileo  Trzwalk

LWWILL T@M&W%fvvla"éﬂ'ol/l
t = (- = x)
)(\I';‘ X, jS: \//C/
X,)/): Ko 2 =

| = (/-5
KS = D/()(% —/@c‘f)
4 vector x = [C-é, X,Y,}S = (Cz/,xf,)(l))()); (x® X',/Z;XSS
PN RS S &

Necw el

how do  x tausbon?

v = _/\_1//“ % v V- generic Jindkx
thA) |'Vle('(eS )/z)ﬂe)( d Wﬂ?{gﬂ/m\
7. ivdiess, contmet /up % /aww\ = /(/A

CDVUE?I $ ls>  Norisot



)
<
N ]
Y
< i
oS
V)
Iw.ﬂ\
yp W
b
o I
s ¥
[\
0
3 X
A
{T
o
T lAﬂ
B.I\/\/ \
= UL T
o —0O ~
0 ¢ . J MO\D
50 5 3 S9- 00
ol /) ~ N Teno N
)\ 9 N —~ o2 © " /ﬂ
=R 0 s N\ _ | 2 I \
__ ! , .
- C e Y 13 . N
S AICEMN S =~ 2 9 3 <
| y Sg g h SR SRR S N
RN (o I + X g )
< 3 4 o0 38
N NG % o R W
_ =~ sS9 7y 3 Vo< i 3
g + J
& — [




